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PROVISIONAL ANSWER KEY

Paper: 068 - Acts and Rules administered by the Labour Department
Date of Test 19-05-2025
Question1:-The Industrial Dispute Act 1947, provides for the constitution of which of the following to promote Industrial peace?
QUPAIMLITIS; MURIWIMs EaNvadlafesmmaimoel 1947 eer apaimowls @3 Mloze eMlyo@MAIRIE @@y @ale@lEImd ayaImo ealgma?
A:-Labour Courts
GRIENIB CBHISTIB:UD
B:-Tribunal
s)e)sanésrna%
C:-Board of Conciliation
@ermpaileleaum esnodoy
D:-All of the above
AHE@D A0SV
Correct Answer:- Option-D
Question2:-According to the Industrial Dispute Act 1947, What is the maximum notice period required for a strike in Public Utility Service?
1947621 apaimode @de M. @omaudls), aeple’ @sleld cuvdallnia 6w aemigsasiay @RI lea0IW] EMISITY @ISl agamosm?
A:-6 weeks
6 ang
B:-1 month
1 @omve
C:-2 weeks
2 @y
D:-4 weeks
4 aog
Correct Answer:- Option-A
Question3:-In the Industrial Dispute Act, 1947, which section outlines the procedure for referring dispute to arbitrator?
1947021 aipamole @3 Mloaooilod, @@e awymad 0and £2QMOIMPES MSalSl@e ag® alleonomicd alaiclesmme?
A:-Section 10 B
emuaum 10 B
B:-Section 10 C
emusum 10 C
C:-Section 10 A
emuaum 10 A
D:-Section 10 D
emusum 10 D
Correct Answer:- Option-C
Question4:-Which of the following is not an unfair labour practice under Industrial Dispute Act 1947?
1947 ea1 apaimodie: @3 Mleae @@ @RMP@AID 6MFIT MSaISIWEPOEDM®Y aB@oem?
A:-Coercion
al@enicrwo
B:-Victimization
DEQIHTD
C:-Retrenchment
afldlgalls@d
D:-Legal Strike
Q220 MVAEs
Correct Answer:- Option-D
Question5:-The Industrial Dispute Act 1947, places restrictions on the employer during the pendency of proceedings. What does it restrict?
1947621 apaimodie: @3 Mlwas, MsalSleud @l@qj0eoom MaoD emsiasag’ MoEEMERud ogdensEmMo. DY ahamosn Mloaslesma?
A:-Suspension of employee
laimenoeem ey’ £.21QMOY
B:-Closure of establishment
MUNJAIMe @S 5jndSM
C:-Alteration of employment condition
01 @OAIMINWIE @0Qe
D:-Transfer of employees
glamermes sodayad
Correct Answer:- Option-C
Question6:-Which Section of the Industrial Dispute Act 1947 provides for a reference of dispute to Industrial Tribunal?
1947 ea1 aipaimocie @de Mloacslenl «go) A @dsm. apamIie eessmismelay 0and ©aQmd AT E.aIQME?
A:-Section 10 (1) (b)
emuau 10 (1) (b)
B:-Section 10 (1) (c)
eauesad 10 (1) (c)
C:-Section 10 (1) (d)
emueuad 10 (1) (d)
D:-Section 10 (1) (a)
eaussiad 10 (1) (a)
Correct Answer:- Option-C
Question7:-Under the Industrial Dispute Act 1947, how long is the period of limitation for raising a dispute?
1947 o1 aipairuoeis @ds Mloae®i00, 8@ @A®He OMAIEBmMOInEs al@ldlol G:0e1sal af@@oem?
A:-3 months
3 moave
B:-6 months
6 moave
C:-1 year
1 oo
D:-No limitation
al@ldl] eogy
Correct Answer:- Option-D
Question8:-Which Section of Industrial Dispute Act 1947 describe the disqualification for the presiding officers of Labour Courts, Tribunals and
National Tribunals?
1947621 apaimnde: @34 Tloaowlenl ooy Qldnfosn ealsnid ee0saile:ud, 66SEIMaIU3, eBWlw HaSMIEME)EU apmilaiges fleamaly’ soadrudacmes
@RERINOQERT] 4] Aladlesma?
A:-Section 7 (B)
equesm 7 (B)
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B:-Section 7 (A)
equeum 7 (A)
C:-Section 7 (C)
eauesm 7 (C)
D:-Section 7
oquaum 7
Correct Answer:- Option-C
Question9:-What is the minimum number of employees required for the application of Chapter VB of the Industrial Dispute Act 19477
1947 ea1 apaimodie @des dloaooilear 20aigd VB jeouilasmalay @oaiuoimo oggaje @060 SlaihEnimes afsRe af)@@oem?
A:-50 employees
50 gflamenod
B:-100 employees
100 gdlamemad
C:-150 employees
150 gdlaimemad
D:-200 employees
200 gflamsnod
Correct Answer:- Option-B
Question10:-In the Industrial Dispute Act 1947, what are the requirements that an employer must fulfill before retrenching a workman who has been
in continuous service for not less than an year?
1947601 apaimodie ods Mloeem, 8 AdUODTITE S0@I0D @SGaRID CrAMODI® adorlesm 6w emadlendlow aldgyalgmala) gm! em emadiasa aoellessn
ARURBHOBHUB afOTDIOEWET?
A:-One month notice in writing indicating the reasons for retrenchment and payment of compensation equivalent to 15 days average pay for
every completed year of continuous services
alldlgaliselmes &0meEBEud Myalallge@iee 6 20TUEED cagRIYss @G ], ®SAAWIR ETLAMETIMBEO ojdomlwosiw e QId floee 15 dlaucrveom weowedl
CRIOMOTINY DEIAIQ Mayal@laNIGe MTBLTI
B:-One month notice in writing or payment in lieu thereof, compensation equivalent to 15 days average pay per every completed year of
continuous service and one additional months pay
B® 20TV EaIIYRIYSS BRG] @PELIBIT @RGIM® l®ERSs GnIWERMT, @SB4IWIW CILAIMATIMBEO JATTIWIEFIV §6EI AdaUTTIM®. 15 damecm teeowed vemigamim’
DRI MayalBlan@e, B @RWIH BZITVODD BMIGe oIl MTBHT
C:-Two months notice in writing a compensation equivalent to 30 days average pay for every completed year of continuous services
@6NE 2OMIOED EE6IYRIYSS @RGIWL], @SB 4O ETLAMETIMEO Jdorilwosslw 660 QId flee 30 Alairue o™ (eEIRE! LMISETIM RO Magnl@la0d@o
D:-One month notice in writing or payment in lieu thereof and compensation equivalent to 15 days average pay for every completed year of
continuous service or any part thereof in excess of six months
8T 2ITVOOD GEAINYPRIYSS BRCIDl] @RELIEITE G Al®:EQSs ¢lWeaMd, @SB 4O ETVAIMOTIMBEO JBTTIWIGI eI AIBHTBIMR. @PEIEIE @RS ATLETI® BSCeISs
anailiden agem@la onoDime. 15 dameom weowdl wnigowlay’ @M Magaldlanooe
Correct Answer:- Option-D
Question11:-If an undertaking is closed down on account of unavoidable circumstances beyond the control of the employer, the compensation to be
paid to the workman under the Industrial Dispute Act 1947
omoslajsaqQes m’lm}@m)(mﬂm%mggg BFQEIMOAIIOID MVIAO.AIRYEEBU BO6Mo 63 MNdAIMo @IS 4jndgHWINEMEID, 1947 o1 aipairuoeis @ds Mlore @00 6@IFlangles’
M@EHHEMTE MoYalGla0d@0
A:-Shall not exceed his average pay for 6 months
6 aoqueTERSs @RIEeS (PEIUE®E! MISOTIG Bl
B:-Shall not exceed his average pay for 3 months
3 aoaueoERss @OWISES REIW®E LMUSOBIG HONQ@OY
C:-Shall not exceed his average pay for 1 month
1 aomucomenss @RIEeS (EIUE®E! MISOTIG Bl
D:-Shall not exceed his average pay for 15 days
15 dlameoneanes @p@Iges 1eawd wmigomie ealomo
Correct Answer:- Option-B
Question12:-Which Section of the Industrial Employment (Standing Orders Act) 1946, deals with the pushing of standing orders?
1946621 BWMNIQ® afoteioionmdd (qomaulu’ BodwAMY @RE) Ol agEY Al qomaulsd BoBWRSUB PEMIS AR OB OalYMN®?
A:-Section 12
emueum 12
B:-Section 9
emuaum 9
C:-Section 20
emueum 20
D:-Section 14
emuaum 14
Correct Answer:- Option-B
Question13:-Which Section of the Act state that oral evidence in contradiction of standing order is not admissible?
qomdauied’ @adandlay almevaow aneraes eOEqBW Tule:o0Weg)MY HlwadBleal g Qldalosm alo@M@?
A:-Section 14
equaum 14
B:-Section 12
emuaum 12
C:-Section 18
emueum 18
D:-Section 13
emuaum 13
Correct Answer:- Option-B
Question14:-What is the time limit for submitting objections to the draft standing orders to the Certifying Officer?
H0s qondaules’ 808 LQBEEISEs n@)(ﬁ)’](ﬁgd&(fs mdglosaneles Boadmdes” madajesmaiegs mawaldlwl agamosm?
A:-12 days
12 dlaaoe
B:-30 days
30 dlaurve
C:-15 days
15 dlairoe
D:-14 days
14 damoe
Correct Answer:- Option-C
Question15:-Which Section of the Act deals with the power to exempt Industrial Establishment from the provisions of Industrial Employment
(Standing Orders) Act 19467
19466a1 apamoaie emodod (quomasles 8odawgeed) doaomiea agamasglad alam agpaImoie: MtINEOD BFANEIMES BRUWIE:0B0 BB A6 OGEO00
®algm@?
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A:-Section 10
emusum 10
B:-Section 8
omueum 8
C:-Section 12
emueum 12
D:-Section 14
emuaum 14
Correct Answer:- Option-D
Question16:-What is the time frame within which the certifying officer send a copy of the certifying standing order to the employer and the trade
union?
Mdg06a00flty Boadlrud mudglesanwley qomaslewy Bo8aWAIMBEO B® alddq] E®IFasag. ESW QEMM. ARMTIMEs MaWaIBW! agamosm?
A:-Within 14 days
14 damooimgs]cd
B:-Within 21 days
21 damoslmess]cd
C:-Within 30 days
30 dlamosmegsicd
D:-Within 7 days
7 damoslmngsed
Correct Answer:- Option-D
Question17:-Under Industrial Employment (Standing Order) Act 1946 who is the authority to interpret a certified standing order?
19466a1 apamoaie emodod (quomaslss 8odawad) mlone)eire 6 Mdslenanny qRomaulu’ Bodawd alaIPMlEM @RAEHET @EUSlE:000?
A:-Labour Commissioner
calenid &adflauenad
B:-Deputy Labour Commissioner
sxu)(uég’l eaienid @oflasemnad
C:-Labour Court
GRINIB CBHOSOI
D:-The High Court
£6a0CMISO|
Correct Answer:- Option-C
Question18:-What is the duration within which an appeal against the certifying officers decision must be faced under the Industrial Employment
(Standing Order) Act 19467
1946621 0BT agotep@enmdd (qRomaslyy @odwE) @BE 00 MASIEeNGlUY Biadmdnmes GlamacmEleMEIw @Al ng@ Taovlpagcd cm@lseme?
A:-Within 15 days
15 dlamoslmngsad
B:-Within 30 days
30 damosmegsicd
C:-Within 45 days
45 damvosiesslcd
D:-Within 60 days
60 dam oo
Correct Answer:- Option-B
Question19:-Under Indian Trade Union Act 1926, an application for registration of a trade union must be signed by
1926621 avymB csw QeI @RE @Jd:d0s, B3 ESW QO EEEMYUMES @BEAIBHOITE Baflesenem
A:-at least two members of the Trade Union
s Qerlomleal &:0mmCY 6N @R.MIE@RUS
B:-at least 10 members of the Trade Union
esaw emlodleal a0 10 @roweasuwd
C:-at least 7 members of the Trade Union
esa Qemlemleal @:omo 7 @oeweRud
D:-at least 5 members of the Trade Union
esw emlomleal G0 5 @rowaBud
Correct Answer:- Option-C
Question20:-What is one of the lawful objects for which the general funds of a registered Trade Union can be utilized?
osllayd a1 B8 ESW QEITMEO Ha® aNMEGUd LaltIUTlEnIm @M MlanEacw AlEHEEEI® BaTY agmem?
A:-For political campaigning
@0 (@JaloEEMOTIMODI]
B:-Investment in stock market
630006 Qflasemileieas mlestial
C:-Contribution to political parties
0@ alAIBWBERBS TVROQIM
D:-Payment of salaries and allowances to office bearers
ROPANAOIBUBERES MIBQYo mmmcﬁ«g@go [eplcNan)
Correct Answer:- Option-D
Question21:-Under the Indian Trade Union Act 1926, which of the following circumstances would lead to the disqualification of an office bearer of a
Trade Union?
1926681 vy esW QT @RS @JEI00, BMAOQM Ma02IRKIREIE B ESU QMO0 BIEANACIEL BREWINIMIEBIMNINY E:PEMAIG:MND af)IEN?
A:-If the Individual is under 18 years of age
ageniles 18 aqay meewossmessicd
B:-If the Individual holds a full time job in a
el 6@ NGO ggaimd muaw emoell 6.aigmossnze:lcd
C:-If the Individual has been convicted of an offence involving moral turpitude
Qe WIBEIE BREIVE®Io DUBOAIFIM BT HQHOKOTIM (Bless enrg’lqﬂgmmsﬂmﬁ
D:-If the Individual is an office bearer of more than one trade unions
el amileulee ESW QEMIRMRG:EHS @0EANGIIeEMEITS
Correct Answer:- Option-C
Question22:-Under the Indian Trade Union Act 1926, which of the following acts does not apply to registered trade union?
1926601 M G QMM @@ @)@, PR EaIR GSW QETIWMESUBE MIOWEAGPOEDD LMlajoQM TlwamREled ag@oem?
A:-The Companies Act 1956 and The Cooperative Societies Act 1912
1956621 e:niadl @oe, 1912621 Muad@:eem 6MIe6MId @RE
B:-The Co-operative Societies Act 1912 and The Companies Act 1956
1912681 muanseem emuosemd aae, 19566 @nim arog’
C:-The Societies Registration Act 1860
1860621 6m0e6Vg] eeleryaum @
D:-All of the above
QHE®D AlOOMAIOWEIe
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Correct Answer:- Option-D
Question23:-When two or more trade unions are amalgamated under the Indian Trade Union Act 1926, what document must be sent to the Registrar
of trade union to complete the amalgamation process?
1926621 vy esw QMM @RE eI PR AP@IRILlE:E20 S QaMleMmeud AIflalesemiond, MEWIRM G ojdoBloErm sy Qi EelMdes A coe
@OEM.?
A:-The new rules of the amalgamated union
MecoHl® QETlMen ojolw mlonsmesud
B:-The financial statements of the amalgamated union
Moeosl® QMO MOMIETIe: @TYIAUMBUY
C:-A notice of amalgamation signed by the secretary and at least seven members of each amalgamating union
OMGSCIYo B0EED TV QEMMIORIQ. SO a@Y ERLEEE Balls TUEWORM EMoglmy
D:-A notice of amalgamation signed by the secretary and at least ten members of each amalgamating union
OIVGSAIQYo 630600 MVEWIH® WEMIMOLITI BOCTNG) IO @RS Gafls TVEWIRM EMIZIMY
Correct Answer:- Option-C
Question24:-Which authority is responsible for fixing the rate of wages for working journalists under Working Journalist (Condition of Service and
Miscellaneous Provisions) Act 19557
By ememelqy (@erdlam eoad audallny @rma’ daveairlemy eeoalaumms) ere 195507 #ldlad emoal £.a1QM Ggameﬂq}g&ge)s oM Moy MluRIleRmMOIM agoy
@pemodiglosn pomend?
A:-Labour Commissioner
caleni@ @odflauernad
B:-Registrar of Newspapers
al@eBges eslryod
C:-Industrial Tribunal
Bl suecssm%smmﬁ
D:-Wage Board
causd’ @enIoBauy’
Correct Answer:- Option-D
Question25:-Under the Working Journalists (Condition of Service and Miscellaneous Provision) Act 1955 a working journalist shall be entitled to
earned leave
1955601 cudesflouy amemelqyay (@endaud eoad mudalloy’ @y drveairlom aoaleum) aoe @@ore, ¢l eagm 6 a@aad ay doelo eeawles’
@RABaO®QENROWB]Es0.
A:-On full wages for not less than one eleventh of the period spent on duty
WSl@d ealeiaidly :0e1salBeao adlemoaTiad 6@ UVEBICS HOOOT FLAIMD CaIdMEBIES
B:-On full wages for not less than one twelfth of the period spent on duty
(\»éﬁl@%ﬁ 6212101l 5) $02180lBe0 AIMDTE® 8B BINOTI EHOWIT FLAIM CAUDMMODIT
C:-On one-half of the wages for not less then one-eighteenth of the period of service
CLAIM GIRIWSAIME0 ITIEMSITE B EINOTIT HOWWIT CAUMMOTIMOO ald:@Iicd
D:-On full wages for not less than one-eighteenth of the period of service
GNLAIM B02I8AlMBe0 aGlemSIT3 BM EINOTIB HOWIT FLAIMD UM TG
Correct Answer:- Option-A
Question26:-According to the Working Journalist (Condition of Service and Miscellaneous Provision) Act 1955, what compensation is a working
journalist entitled to upon retrenchment in addition to the notice period or pay in lieu thereof?
19556ea1 aidseslowy ememellqy’ (@6ndlad 8a0’ qudallny’ @R dlmueairlemy eajoalleuad) @R @RMTVEY], EMISITY HAISAlEMI @RMIM lkhEROW RMISTTIEMI 0GR
nJ'I(aL;dm'lseﬂm“ alewwniw g emoel £2IQM al@JUBTDSBAY agav’ Dogal@ln00@0 QIElER0?
A:-Compensation equivalent to 30 days average pay for every completed year of service
oJAoTl@osl@ 6060 EruaIm AIdaHEDIM. 30 damuecm WwEIWE! LMISEBIM BeIrIW Magnl@and@o
B:-Compensation equivalent to 26 days average pay for every completed year of service
oJ@ol@osslo 3060 crvaIm aldaoBile. 26 daimecm WEIKWE LMIBEDINY @aRIL MayaidladoGe
C:-Compensation equivalent to 15 days average pay for every completed year of service
oJAOTl@oHI@ 60600 ETLAIM AIRHODIM. 15 daimuecm wewE wMISEBIM Beirow Magnl@and@oe
D:-Compensation equivalent to 45 days average pay for every completed year of service
ojdol@osslo 3060 srvaIm aidaopie. 45 damecm WwEIKWE LMIBEDINY @aRID MayaidladoGe
Correct Answer:- Option-C
Question27:-Under the Working Journalist (Fixation of Rates of Wages) Act 1958, who is appointed as the chairman of the committee constituted for
fixing rate of wages?
1958601 aidesflovy ememelqy (eumm mloessud Mluniele) @ @@doe, camm Mo Wlimelesmalmiw] @ale:dl euildles 6 .adnme] ereewosm wwdlesma?
A:-An Officer of the Ministry of Labour
OIS DEDILIVODIOL! BT OERPWMLAM
B:-An Officer of the Ministry of Home affairs
@REROE AMILIVOTOL! BT OEBPUMLAM
C:-An Officer of the Ministry of Law not below the rank of joint secretary
¢m0QlB0 &MBSOIYeS 0BT GOWIOD MW AEDILIVOTINL! BB DEBPNVLAM
D:-A chartered accountant nominated by the Central Government
6B TVBLHOB MIAMIBEGURe HalR) aldBe5AW @REHDENRM
Correct Answer:- Option-C
Question28:-Under the Working Journalist Act 1955, who has the authority to constitute a tribunal for fixing or revising rate of wages for non
journalist newspaper employees?
1955621 aidesflouy ememealqy @@ @800, al@IABOMEEEOO al@ &HameIdes camm dless Mlunialeamailemo adlydlesmaiens e oetsmlésmra's @alleclenond @rdanoeny
@UB0@07
A:-The Central Government
eBH@ TBEHIAB
B:-The Supreme Court
amefle €IS
C:-The State Government
MUeMOIM MVAEHIB
D:-The High Court
£6aNEEISOI!
Correct Answer:- Option-A
Question29:-Under the Maternity Benefit Act 1961 for how many days does a women need to have worked to be eligible for maternity benefits?
19616e! eaegemidl esniailadly @RE @00 8@ MYl JTLAMRGEIERWBE @R GMFMMEINY af@ Elaimvs em=oel 6.aigldleneme?
A:-120 days
120 dlame
B:-80 days
80 dlaurve
C:-60 days
60 dlame
D:-None of the above
AHEIB alOFDAOWITRREY
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Correct Answer:- Option-A
Question30:-What is the maximum period for which a woman is entitled to maternity benefits?
8@ Ml @JTVAIMELIFERUIE ERAOWESE aleadawl Goeiaal ) @woem?
A:-10 weeks
10 ang
B:-12 weeks
12 aog
C:-26 weeks
26 aog
D:-18 weeks
18 ang
Correct Answer:- Option-C
Question31:-Maternity Benefit Act 1961 is applicable to which of the following types of establishments?
19616e! @ruanmeely Gloze @O alOQID aR® CEOTISISS TUAIAIMEERUBES fNIOWE:@6m?
A:-Only factories and plantations
a00Cldgo EOSETBG BODo
B:-Only mines and plantations
Sl.lﬂ'ﬂ@%o GIFEAEo DI@o
C:-Factories, mines, plantations, shops and commercial est.,
andROle03, U3, GEISEERUS, HSHUB, QUOETI®Y MUNdaIMe
D:-Only government establishment
MUABEHIB MLNdaIMo BI@o
Correct Answer:- Option-C
Question32:-How many weeks of leave is granted to a woman who undergoes ac under the Maternity Benefit Act 19617
196160 @manmgel Mo @80 Ve GRRINIM 8@ MYl (@ @By G @rMAIEER.?
A:-2 weeks
2 ang
B:-4 weeks
4 ang
C:-6 weeks
6 ang
D:-8 weeks
8 ang
Correct Answer:- Option-C
Question33:-Under the Maternity Benefit Act, 1961 what is the maximum period for which nursing breaks can be taken?
196160 @jruanmeely Mloaee00o MgloUY DSEAUBHUB af)FEHIYI alE@OIW] Hoalaql ag)6em?
A:-12 months
12 moave
B:-15 months
15 a@oave
C:-24 months
24 poaoe
D:-18 months
18 aoave
Correct Answer:- Option-B
Question34:-What is the minimum duration for which a woman must inform her employer about her pregnancy to be entitled to maternity benefits?
@TVAMEAIFERUIE @GO MMM 6® Myl ®Me0 NBRWIEEM Flal 0@051a506©@ @RAIRIEEMTE o GOSN GIRIVSAT af@@EN?
A:-2 weeks
2 ang
B:-7 weeks
7 ang
C:-3 weeks
3 ang
D:-6 weeks
6 ang
Correct Answer:- Option-D
Question35:-What is the amount of maternity benefits payable to a woman under the Maternity Benefit Act 1961 for each day of her absence due to
maternity?
@manmgely Mloze 1961 @e:or. 8@ Ml @manaiul &oem. @RERINIEDI 988 69600 FIMIETIM. MEBEM:EN: ITIADMELY D> of)@WIEM?
A:-Average daily wage for the period of actual absence
WO @RI &IRIVSaleR! VEIWE! ElAIM MM
B:-Minimum wage
dladlae emMo
C:-Fixed amount decided by the employer
omoslgjsa dlmaomly mlunlo; s
D:-None of the above
QABHE@ OO BaRRRY
Correct Answer:- Option-A
Question36:-What is the purpose of the Section 26 under the Maternity Benefit Act 19617
1961ee! @manmgel dloacolen emuesm 26me0 Deguek agmoem?
A:-To specify the right to maternity benefit
(@TUQIMPELIOTIRSS @RAIG:IU QUBIAIEOND
B:-To outline leave for miscarriage
NBER. @RRIMEIMES @PAIW! @BalEra MQI0IEHIND
C:-Power to exempt establishments
MLNAIMEEREE BYlAIEIMES @RWIB:000
D:-To define penalty for contravention
BloaimOmmes wWlew mldalalenomd
Correct Answer:- Option-C
Question37:-Under the Kerala Industrial Establishment (N & FH) Act 1977 how many national holidays must be granted to employee each year?
1977 021 sa08 madawmiloc agayosyiioand (N & FH) aog @@oo. 80600 aidauqi ellaimenonny @ eawloe apaiull dmenud @omaidlesme?

A:-2
2

B:-3
3

C:-9
9
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D:-5
5
Correct Answer:- Option-B
Question38:-Which Section of Kerala Industrial Establishment (National & Festival Holidays) Act 1958 deals with the payment of wages for Holidays?
19586ea! eo0g aanmflocd agayoamiecmd (esuwlo & sorua @eaw dmeansw) dloacolear ag® Aieapn @oaw] daruasgloal aImMo MEMEY MVeeNIMWla] jdlalodlesma?
A:-Section 6
omueum 6
B:-Section 7
emooumd 7
C:-Section 8
omueum 8
D:-Section 5
emueumd 5
Correct Answer:- Option-D
Question39:-What is the minimum number of employees required for an establishment to be covered under the Kerala Industrial Establishment (N &
FH) Act 19587
195860 ea0g Lo agayosiecymd (N & FH) aoala’ sl¢m am munoamonilay @oaiuoimo aggaje @06om slaimeomes ageRe ofamoem?

A:-10
10

B:-20
20

C:-15
15

D:-50
50

Correct Answer:- Option-B
Question40:-What is the duration of a day as defined under Industrial Establishment (N & FH) Act 1958?
1958601 paBawmflocd agayoapienymd (N & FH) apglay @ldlcd mldaalsdesm w@oee 6w damopiBdec eesdeels agmoem?
A:-12 hours
12 aemigad
B:-18 hours
18 aemilgsd
C:-24 hours
24 pemlesd
D:-36 hours
36 aemlesd
Correct Answer:- Option-C
Question41:-Under the Payment of Bonus Act 1965, which establishments are required to pay a bonus to their employees?
1965601 esn0emay’ cal@ORM0 @R )90, aOMIOE MLIIMEBSIM OEREHS HAMEBIBL CNIITMIY MEHE®?
A:-All establishments with 10 or more employees
10 @peog)Elm® @Ol @@ HAMESIMES afgd MNdAIME@RSs
B:-All establishments with 20 or more employees
20 cegielcd EROIm® esO@ HAUNEIBES afgld MOIIMEEBRG
C:-All establishments with 50 or more employees
50 cregelcd @eCI® B5O@® HAUNEIBES afgld M0dIMEEBRS.
D:-All establishments with 15 or more employees
15 @pegi@lm® cRol @O HAMEBIBES afald MUNIAIMERS.
Correct Answer:- Option-B
Question42:-What is the minimum bonus percentage that an eligible employee is entitled to under the Payment of Bonus Act 19657
1965681 eeniosmmy ealfoaadd @R (B0 EVINIMIV BB HAUMEIRM GPANORQSS B G:OETID GENIXEMMY L@AIMo A @@oem?
A:-10%
10%
B:-20%
20%
C:-12%
12%
D:-8.33%
8.33%
Correct Answer:- Option-D
Question43:-How is the available surplus defined under the Payment of Bonus Act 19657
1965621 eenioemmy’ @@ @Jeh0@e LIRMI® dlale af)EBEMWOT Mldalalsidlesmma?
A:-Total income of the establishment
LA IMOIMBEO @RS QUBBOMo
B:-Gross profit minus certain deductions
©R00M L10R. HOAMMY aflel Bllaieud
C:-Total revenues minus expenses
ORIOMo QUBAIMo HOAMMY’ 6).2ILI0YBUB
D:-Gross profits
DI 210Eo
Correct Answer:- Option-B
Question44:-In case of a dispute over the payment of bonus under the Payment of Bonus Act 1965, who has the final authority to decide the matter?
1965621 6eni0eMMY ¢aIQBA @R @EI0e BENIOIMMY M@BMGIOMe 2/08]l MAHPTROWITD, @B @00 GlmBaTIEnId @RTIA @RUE:00. @ROAEHEM?
A:-Deputy Labour Commissioner
sxw«uég’l celenid @odflaxenad
B:-Regional Joint Labour Commissioner
@3 30 caleni@ dodflauenad
C:-Labour Court and Tribunal
GRIENIB EHHOSTI Qo e S6niEMaje
D:-Labour Commissioner
caleni@ &adflauenad
Correct Answer:- Option-C
Question45:-Under what circumstances is an employee disqualified for receiving bonus under Payment of Bonus Act 19657
1965621 66n106MMY ¢alOQMBY @R (@0 6eNI0EMMY IElEBM@IM 8@ HAIMEIEOM GREIWKMILBM®Y AB®Y TVOA0 alRYOBIR6?
A:-If he has less than 1 year of service
@eEGa0EBIM 1 Aidaooicd @oee eraImgeseeEsled
B:-If he is dismissed for misconduct
€R0UBe EIGRIQEBIM @BEGEE™ oldlgollsocd
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C:-if he resigns voluntarily
@PEGFa0o TVIGDW®I EIHIO4J0M
D:-If he is on leave for more than 90 days
@negane 90 damonid esm® @pawlaienesmelod
Correct Answer:- Option-B
Question46:-Which of the following components is excluded from the definition of wages under the Payment of Bonus Act 19657
1965621 6enioemm ¢alieamdd @R@ @890 CAMMOEDIMBe0 MldalamoBia aflam emlajoQam caise:EBl ag@oem aslanasloldesma?
A:-Basic Pay
@oSInaom LeMISe
B:-Dearness allowance
wldemay’ @pelaimamy’
C:-Retaining allowance
aleirldomad @oelmamy
D:-Overtime allowance
8001366Se @rRIMMY
Correct Answer:- Option-D
Question47:-What is the time limit for the payment of bonus under the Payment of Bonus Act 19657
1965681 6enioemMY 6alWHAMBA ARG (@EdRe GENINIMMY Galeamdlmes Maaldlul agamosm?
A:-1 month from the close of accounting year
@REDENTElUY QB @RAITLIM]IBIAY GUBaHe 1 @OV
B:-9 months from the close of accounting year
@REDEMEloUY QIBaHo @RAIMIN] 4@ Goae 9 mOTVo
C:-8 months from the close of accounting year
@REDENElUY QB @RAITLIM]4IBINY GUBaHe 8 @OV
D:-6 months from the close of accounting year
@REDEMEloUY QIBaHe @RAIMINT] 4@ Gae 6 mOTVo
Correct Answer:- Option-C
Question48:-Under the Payment of Bonus Act 1965, when computing the number of working days, which of the following periods is excluded from
the calculation?
1965621 €enioemmY ealOnmdd @@ @l8:d0s, JYOD GlITUEBEOS afsfRo HEMEIHBEMIOB, MO BG:ILIVEYHEIT BT Bsmengsela mlan’ aslanssolclesmo?
A:-Days when the employee was on leave with full wages
Hlameoem ggam cammeomons @paiwldlenalaman dlamrsasud
B:-Days on which the employee has been laid off under an agreement or contract of service
@ B3 EERIBI BTLAIM &I W Hlameoeem aldlyals darvensud
C:-Days on which the employee was absent due to a legal strike
QIR aleIRSEs $:0e6Mo HAIMENIEM A00REIGITIGM FlaITVERUY
D:-Days on which the employee was on maternity leave with salary
2flmEem LMIBEEMIeS mManauwlelm @reiam daimeaspud
Correct Answer:- Option-C
Question49:-Under the Payment of Bonus Act 1965, what is the time limit for an employee to make an application for the recovery of bonus due
from an employer?
1965621 6eni0EMMY ¢alBNMBS @R @8I0, 6@ emIFlasaiad aflary esnioemmy allesrsesmaila)’ 8@ eflamedem @pealedlenInas MaWaIBlW! agamosm?
A:-6 months from the date of the bonus becoming payable
GENIEMMY M@EHEE D@ O 6 @omvo
B:-12 months from the date of the bonus becoming payable
@6NIEMMY M@BEd 6 Gl go@d 12 moqve
C:-24 months from the date of the bonus becoming payable
GENI0EMIY M@EH6ME B goed 24 @omve
D:-8 months from the date of the bonus becoming payable
@ENIEMMY M@BEBETE GO gO@ 8 moTve
Correct Answer:- Option-B
Question50:-Which authority is responsible for handling dispute regarding the recovery of bonus due from an employer under the Payment of Bonus
Act 19657
1965601 esn0smay’ caloQM@S @RE @E:000 8@ emIIasaicd Mmy aidleme eanosmay AllosmegE @ MuITWla) @AL0 OO0 O age) Erule:dlwon gomeE?
A:-Labour Court
GRIENIB CHISOI
B:-Industrial Tribunal
Bl s)o«ssmésmm%
C:-Any officer authorised by the appropriate government
2220 MAEIAB ERUWIE:0EOWSTTI agomElal OERPUMNM
D:-Board of conciliation
@RMEERM GENIOBY
Correct Answer:- Option-C
Question51:-Who is considered as a migrant workman under Interstate Migrant Workmen (Regulation of Employment and Condition of Service) Act
19797
1979621 @rmAv.munom @:Slewg omodlangle:ud (0@0¢lmd ME@EMQ ETVAIM QAINOT.) MRAEEIR. BRSO #5169 01Nl GO EEMNEIERMDY?
A:-Workman employed within his home state
UM MVarLAOMOBIREsIEd e=oell .a1Qmm emodleng
B:-Workman employed within the same district
660 gl emoel eagm emodlelg]
C:-Workman employed outside his home state
UIT TVLAIMOBIT oo™ ezoall GG emodlang]
D:-A workman employed on a contract basis
#©28 @oslmunomewia emoell ealgm emogleng
Correct Answer:- Option-C
Question52:-Who has the authority to grant the registration certificate to an establishment under ISM Workmen Act 1979?
1979681 ISM aidensmy’ @ @)e:00e 8@ Mnoalmapiay eeflemyaum adeeam qudgladleny M@0 @R@0sT @PUlE:000?
A:-Labour Commissioner
calenid &odflauenad
B:-Regional Joint Labour Commission
Slzzmn@d ez20lM30 celenid d:eflauad
C:-Appointed Licencing Officer
adldle eeairumasluy soadlaud
D:-Chief Inspector
allad’ pBOTYHHA
Correct Answer:- Option-C
Question53:-Under the Interstate Migrant Workmen Act 1979, what is the minimum amount specified for the displacement allowance?
1979621 @omadvemunom @slewy omodlangle:ud Twneleios, MNRkay @oeIaIdmlay m@mmoﬁﬂmﬂgg@ aBQQYe BO6DD Dbs af)@WEN?
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A:-Twice the daily wages
dlameammosim@en oes]
B:-Fifty percent of the monthly wages payable to workmen
OISR B BB MMEBET (JBIROTV CUGMOBIMBEHO @MU VBIMo
C:-Equal to the fare from the place of residence to the place of employment
@oamilesam quoeiory mlon’ esoall muneicEmERss WIE@ogselles el
D:-Equal to monthly wages
@@V CUGMOTIM Dl
Correct Answer:- Option-B
Question54:-Under the Interstate Migrant Workmen, Act 1979 within what time frame must a complaint be filed to prosecute an employer for non
compliance with the provision of the Act?
1979621 @rmAmU.munom @:Slewg omodlangle:ud rlwaelsio., Moaotleal AIMNG® aoaleoamdln) 8® emIFIaISaWe®TO6 )@ MEAIAWIESSHI® Al ME:6Mo?
A:-1 month from the date of occurrence
Mol MsM @l go@d 1 aoaue
B:-2 months from the date of occurrence
VoAl MSM BlOE] GO@ 2 @OTVo
C:-3 months from the date of occurrence
Mol MSIM RG] gO@ 3 @oave
D:-6 months from the date of occurrence
VoAl MSM GO @ 6 @oavs
Correct Answer:- Option-C
Question55:-According to the ISM Workmen Act 1979, in case of any default by contractor in providing the prescribed amenities to the workmen,
who is responsible for providing such amenities to workmen?
19796e1 ISM aidesonm @ @@oos, 6moslengleudes Mddlay mumeoiERud M@EMGIM @0Q@:em allg ABOMIWI®S, HMIFIeElE:WBE EPOMm®. MUDGEYBRUS M@BEMIaY
@REIM OMEEI?
A:-The State Government
MVLMNIM TVRBERIR
B:-The Local Self Government
MERUd MUIWoEREEIM (MUNJalMoe
C:-The Central Government
(M TVAH:IB
D:-The Principal Employer
@wom emoslajsa
Correct Answer:- Option-D
Question56:-Under the Inter State Migrant Workmen Act 1979, which of the following is not a duty of the contractor?
1979621 @omA@ quetunom @slewq emoslangleud mlwne)eime, MmlajoQMAEITd ngmos ®:eIQ@0Me0 &Sawey?
A:-To issue passbooks to each migrant workmen with relevant particulars
0600 HSleRQ O@IFRNEBUWBER TVBDRIW QllAIEERUY ERSEIRIR AOMIENIERBUY M
B:-To pay the wages to migrant workmen directly without any deductions
H5160Q ©@IFRNEIBWBE WIE®IG Bl BSIO® EMEIS EAUMMe M@BE:E:
C:-To provide displacement allowance as stipulated under the Act
mloea@e. luniaialges Mmoo @RI MG3de:
D:-To file annual returns to the specified authority concerning the migrant workmen employed
emoeil ©.21Q)aM &Sleq 6@Iangl®es Muosnimwly Mlddley @remadidles andale dlegamaeud madaless
Correct Answer:- Option-B
Question57:-Within how many days must an appeal be filed against an order of the registery officer under the Inter State Migrant Workmen Act
19797
1979621 @rmA@ Muesmunom @slewy emoslangleud mlwn @i eelmyl siadauges somealemaiee «p@ dlamoplngsle @oallcd maaeme?
A:-30 days from the date of the order
&808wad ool gow 30 damv.
B:-60 days from the date of the order
803wad ool gow 60 dame
C:-45 days from the date of the order
808wad ol gow 45 dame
D:-90 days from the date of the order
803wad ool gowd 90 dame
Correct Answer:- Option-A
Question58:-Which of the following criteria determine the applicability of the Inter State Migrant Workmen Act 1979, to an establishment?
1979621 @rmA@ Mmunom @:Slewy emaglangleud MluaomilBeo @EINEHI® B@ MNIAIMEBIM ldEROIEBME @O AIO@M BOMEEMULEBHIE R®EM?
A:-To every establishment in which 20 or more Inter State Migrant Workmen are employed
20 @negBlad @o@od @SO® @AMAE MVmNIMm @slewy emoslangleud emoal £.1Q)M G0EED TVNdAIMEIIM.
B:-To every establishment in which 10 or more Inter State Migrant Workmen are employed or were employed on any day of the proceeding
twelve months
Al@ENE 20MVOOD MSalSiGRcREoRl age®Bslaj GlaIM alEOMO GEGIM GSERID ERIDG MVMINIM &SIEQ emFlengle:ud emoell Oalgmemd emoel o 1glammemd G 66D
MU0dAIMEBBo
C:-To every establishment in which 5 or more Inter State Migrant Workmen are employed or were employed on any day of the proceeding
twelve months
Al@ENE BOTVOO MSals] ] 0l lejo Blaiave @3 @ 0 @A TVrLNIMm dSle@Q 6mIFlangleud emoall HagMEemd eRoell HAQI@MEI ERW E0ED
MLNdAIMODIMe
D:-To every establishment in which 50 or more Inter State Migrant Workmen are employed
50 @negBlmd @o@lod &SO® @M@ MUmnoMm dslewy emosiangle:ud emoal £.21QM 60600 MLNdAIMEBIRo
Correct Answer:- Option-C
Question59:-Under the Labour Laws (Exemption from furnishing returns and maintaining registers by certain establishment) Act 1988 what is the
definition of a small establishment?
1988621 6@osIwd MRS (0o (aller Munoaimeanud Glegamodud M@BemM@iad e EelquQe:wd aidlaoalamalod mlar. adlane®d) 8 60l MuoamEDlBeo aldaalme
ag)moem?
A:-an establishment with less than 10 employees
10@ @69 HAMEIBES GG TUNIalMo
B:-an establishment with 10 to 19 employees
10 god 19 aee dlanm®imes 6@ Mundaie
C:-an establishment with 20 to 49 employees
20 go@ 49 aee Hameomss &8O Mu0dalMe
D:-an establishment with 5 to 10 employees
5 go@d 10 ave Slameimes 6@ mundalme
Correct Answer:- Option-B
Question60:-Which forms are required to be maintained by small establishments in lieu of multiple registers under Labour Law's (Exempts from
furnishing returns and maintaining registers) Act 1988?
198860 6modimd mlasmnud (dlegmmeud m@m@moia dmime eeaElqye®ud aldloalamal dmlime aFEB®) GG @id:I0. aMieiWle EEITYQEUBES alde ©aQEIS MNdAIMERL
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ARODIOE®D GanogHUd ald@laloelemearoens?
A:-Form A and Form B
€a0do af), Gando 6Nl
B:-Form B, Form C and Form D
GaNdo 6N, GaNde (MJ], Gando AUl
C:-Form C and Form D
Gando MV, Gando Wl
D:-Form A, Form B and Form C
Ga0o af), Ga0do 6nl, Gande MV
Correct Answer:- Option-B
Question61:-Which section of the Act provide the power to remove difficulties under Labour Laws (Exemption from furnishing return and maintaining
registers) Act 1988?
19886a1 omosied mlwaenud (dlesomd madamoiled alm. eellTege:ud adlaoaleamaicd wlm. adlane®d) e @eoe. meslggeud M. eam Mloacoleas agdY sy
@OUWIBH0@0 M@HAN®?
A:-Section 5
omuam 5
B:-Section 6
emueum 6
C:-Section 7
emoaumd 7
D:-Section 8
emueum 8
Correct Answer:- Option-D
Question62:-Which form is required to be furnish by employer of small establishment in lieu of multiple return under Labour Laws (Exemption from
furnishing return and maintaining registers) Act 19887
198860 6modimd mlwasmnud (dlegem m@@moio . ealqyqeud myeslasmaia mlare BFlaG®) @OE @I BaTIEIUWlE. ClESIMP@UBE al®:ds ©aQEHIS MNIMEBIeel
©@IFIRISD af@ Galle MBICHEMRDENTE?
A:-Form C
Gando MVl
B:-Form D
Gando Wl
C:-Form A
GaNdo af)
D:-Form B
Gando 6nfl
Correct Answer:- Option-C
Question63:-What is the minimum number of workers required for an establishment to be covered under the Building and Other Construction
Workers (Regulation of Employment and Condition of Service) Act, 19967
19966a! oagls, ag mldanosm emoglengleud (emogiad MlwEEMaje GILAIM AAIMINGE.) WAGDIT GIFIM QIEIM BT MNAIMEBINY ERAIKAIW aBYQYe BHOETTD omodlengleges
aQs[Re an@@OE?
A:-10 workers
10 emodlengleud
B:-20 workers
20 emolengleud
C:-50 workers
50 emoslengleud
D:-5 workers
5 emoslengsud
Correct Answer:- Option-A
Question64:-According to Kerala Payment of Gratuity Rules 1977 which form must an employee submit to claim gratuity from their employer?
CHO8 @o%m’@ eal@eamd QUM 1977 @@o0. 8@ slameniem apames emosigsacicd mlan’ @ognﬂg’ﬂ O HaYMTIV agG@) Gandmo6my oadafesnerea?
A:-Form A
Ganoe A
B:-Form F
canoo F
C:-Form N
6anoe N
D:-Form |
Ganoo |
Correct Answer:- Option-D
Question65:-How is the continuous service defined under the Payment of Gratuity Act 1972?
©ogAld] caionmdd @pey 1972 (@000 @SB@O® EITVAIM. af)EROM®IET Ml gl@lesmma?
A:-240 days in a calendar year
8@ Helerd adauooilod 240 dame
B:-200 days in a calendar year
8@ Helerd@ adauooilcd 200 dame
C:-180 days in a calendar year
8@ Helerd adauooilcd 180 dame
D:-365 days in a calendar year
8@ SR adauooilcd 365 dlame
Correct Answer:- Option-A
Question66:-Under the Payment of Gratuity Act 1972 who is eligible for payment of gratuity?
©ogalldl eaiToamd ey 1972 @000 @rydamosm’ ©agalldl eaieacddim @RROOQEB®?
A:-All employees
ag)gf Hlaimeoao
B:-Employees with at least 5 years of continuous service
BOOO® 5 AIBUOOD @SB YOI CTVAIMPSE HAUMEHID
C:-Employees with at least 10 years of continuous service
B0600@ 10 aidauecm @584 cruaimass Slaimenod
D:-Employees with at least 3 years of continuous service
BOOO® 3 AUGUOHOD DSB DIV ETLAUMPYSS HAUMEHID
Correct Answer:- Option-B
Question67:-What is the time limit for payment of gratuity once it becomes payable?
@ogoﬂ(j MBEHMR@IV AUMBHFEDIB, @M MTBEHER TVA@AIBIW] af)@@IEM?
A:-15 days
15 dlamroe
B:-30 days
30 Ao
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C:-45 days
45 dlaave
D:-50 days
50 dlarve
Correct Answer:- Option-B
Question68:-Under which circumstance can gratuity be forfeited under the Payment of Gratuity Act 1972?
©agallg) @rey 1972 (@000 ag®) MuIa0.aley@me06m ©ogalld) exergeeg50m HIQs?
A:-Unauthorised absent from work
emoeloicd amlan’ aemuwlgmacdl algmiciaed
B:-Poor performance
G2IUdo (@JBHSMe
C:-Misconduct involving moral turpitude
WIBeS BREIVHMIe DUBOAIFIM GarEal®BIQo
D:-Low productivity
B0V OB OBMSUAD
Correct Answer:- Option-C
Question69:-Which of the following is a condition under section 4 for the payment of gratuity to an employee?
6@ sameoen’ YWogaldl m@amalay ervuem 4 (@000 DWnjoQMAD ogmosm &G ayaiTua?
A:-Retirement
alledler®d
B:-Resignation
©ozd]
C:-Superannuation
TRaj@@RMENIH
D:-All of the above
HE@D AlOOMAIOWEIe
Correct Answer:- Option-D
Question70:-Under Payment of Gratuity Act 1972, if an employee's service is terminated due to willful omission causing damage to property, what
happens to the gratuity?
@ognﬂgﬂ c;m)“am(rﬁd @@ 1972 @00, muiowilay movemaye AIBOD amMiaddqle BFANEIQIMBO0 EnlElmd 6@ HlaIMEIRMHO EILAIM. GRAIMON|EBE:WoeEME:I®3, @ogoﬂ;ﬂﬁf af)(oy
MVoEONERo?
A:-lt is not forfeited
O Mayeayslislel
B:-It is paid in full
OO oJBERROQo MTBHOIG0
C:-It is partially forfeited
O RIS Maeqlslelesme
D:-It is doubled
O® EglwIsIldlesao
Correct Answer:- Option-C
Question71:-Under which sections of the Payment of Gratuity Act 1972 is the compulsory insurance provision mentioned?
19726a: ©9gald] caloamd ERAIBEOO oGO AEnEUd @@oeacem dldmimulo @musyomms ayoirn le02dud ofldlesan?
A:-Section 2
omuaHmd 2
B:-Section 4
emueum 4
C:-Section 5
omuamd 5
D:-Section 4A
emuaumd 4A
Correct Answer:- Option-D
Question72:-Under the Payment of Gratuity Act 1972 on what grounds can the Central Government exempt an establishment from the provisions of
the Act?
©ogalldl eaioamd ey 1972 @000, EH@@ TVREMIRIT af)T® @RSITLOIMOETILEM BE@ MLOdAIMeOD Mleacmieal AImABGEl@ Wl gl HFIQs:?
A:-Financial incapability of the establishment
MN2AIMETIBO0 MLoMIETe: @:¥lallgjo
B:-Upon request by the employer
OMIFIRISAQYES @RERIBMOM (&0
C:-If the establishment has less than 20 employees
quooaimomilad 20@ @oee slamenimeeelcd
D:-If the employees receive gratuity benefits not less favourable than the Act
laim$3£s MBI $:00e/0E™ @ogm’lgﬂ @RM@LIEERUR LIElERE:@IeMeslGd
Correct Answer:- Option-D
Question73:-According to the Payment of Gratuity Act 1972 approved gratuity fund shall have the same meanings as in clause 56 of section (2) of
the Act.
©aQallg) enioamdc @Rg 1972 @rmmu@ls) @roullem ©ogallg) anendlary apglocs emueumd (2)ear egory 566e! @oem GRAMNMEUY MROIElEsR..
A:-Minimum Wages Act 1946
dlailae eumm mloa. 1946
B:-Income Tax Act 1961
@RRIRMH:E] Mlon. 1961
C:-Payment of Bonus Act 1965
@6NIEMNY GalWB2MS @Re 1965
D:-Companies Act 2013
&na erg 2013
Correct Answer:- Option-B
Question74:-According to the Payment of Gratuity Act 1972 Wages means all emoluments which are earned by an employee while on duty and
includes
1972601 cai@oamd 6oad @ogoﬂgﬂ @R @B, BT HAIMEIEM w&ﬁmﬂmomﬂm’lmacmouﬂ GMFAD afgfd IUSETBSe CAUDMDRIETT, EROIG3 2UBeajgme.
A:-HRA
HRA
B:-Overtime wages
80QA66Se CRIMMo
C:-Bonus
@6NI06M MY’
D:-Dearness allowance
wWldemay’ @oelaimamy’
Correct Answer:- Option-D
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Question75:-An employee has completed 10 years and 7 months of continuous service and their last drawn salary (Basic + dearness allowance) is
Rs. 20000 per month. How much gratuity is the employee entitled to receive?
8@ slam@oem 10 aidatqe 7 20auaj @S ETVAIM. oJdaBl@ods], @AITVOM. AEEI® Wg. (@simunom + wlwdemmy @eeaiamBmy) olaom. 20000 @al. sflamaood
)@ WoQalldl eIFlE0Md @RAODEE?
A:-162923.07
162923.07
B:-126923.07
126923.07
C:-156923
156923
D:-136923
136923
Correct Answer:- Option-B
Question76:-What is the maximum compensation payable for permanent total disablement under the Employees Compensation Act 19237
1923681 Hlaim@omes Magaidla0oe Mla. @MIVEl MHleaI® o) EOGBAIOBIM MBESENE alEAAIUS] MaYal@lnnd@e afmoeN?
A:-50% of the monthly wages multiplied by relevant factor
@olmoau cammasilien 50%, @ruema asisEo O@6MmE Vel
B:-60% of the monthly wages multiplied by relevant factor
@ollmoau cammomlieo 60%, @Tema® cais@e 06N YarlgPd
C:-90% of the monthly wages multiplied by relevant factor
@olmoau ecammasilien 90%, IUemaIW AaISEo OBEMTE W40
D:-100% of the monthly wages multiplied by relevant factor
@ollmoau cammooimeo 100%, @ruemaw aaisse @06 Werlajo@d
Correct Answer:- Option-B
Question77:-Within what time period must an employee notify the employer of an injury to be eligible for compensation?
Megl@la0EETM @PBa0® eMgMEIM 8@ HAUMEHIEM 0@ TLWEBIMSEI® 8@ adlslomendlal emadasaow @ool@leemo?
A:-Within 14 days
14 damoslmgsiod
B:-Within 7 days
7 damoslmgsied
C:-Within 30 days
30 dlamooilngscd
D:-Within 60 days
60 damosiltesscd
Correct Answer:- Option-B
Question78:-Under which schedule are the specified list of injuries mention in Employees Compensation Act 19237
1923601 flaimeImes Mayaidlanoo Mool odleaeges Mdday agle ago’ Sauauwyslay sldleneny lE2AU3 gfl@lesan@?
A:-Schedule Il
Saiwyd I}
B:-Schedule Il
ooy |1
C:-Schedule IV
Saiwywd v
D:-Schedule |
SauawyA |
Correct Answer:- Option-A
Question79:-Who among the following is not considered a dependent under the Employees Compensation Act 19237
192368 dlain@omes Mayaidla0oe Mlwae @G GIOLAORMAICIT CREOWIT ERUFDEIV] BHEMEIEHITHD?
A:-A widow
aflwa
B:-A minor legitimate son
(@OWBOTIWIB0Om WBWAWBAYD BHM
C:-A major unmarried daughter
(@OWBOTI@OW @RAIAACIO@IQ ad:u3
D:-A minor legitimate unmarried sister
(@OWyBOTIIB00m WHRAMIY® @RAADACIMWI® MEnndRE!
Correct Answer:- Option-C
Question80:-If the employer fails to pay the compensation within the stipulated time under section 4A what additional amount is payable as interest
on the compensation amount?
omeu® 4A @0 dlualo MaeoDleeslod MayaldladoGe M@BE:IM EMIFIRISA AIRIBWEIFOM Mataldlan0 DB el af® @RUWIE: D& M@B:EMo?
A:-6% per annum
@@laiBaxe 6%
B:-9% per annum
@oladase 9%
C:-12% per annum
@@laiBaze 12%
D:-15% per annum
@oladae 15%
Correct Answer:- Option-C
Question81:-Under Employees Compensation Act 1923, the commissioner has the authority to review any compensation previously awarded if there
has been a change in which of the following?
192360 ellaimeo@es Mayaidlande M@@as @00, @IOPORMAURI® 3ol 20ge. amigemeac, gml M@WEI® age®Eilaj Magal@lan@e ERAIERIIGM. O Eorflausmdses
@pWle00q6rE?
A:-Employer's financial status
o®olejsaQes mmIemIe: mudol
B:-Employees financial status
sflameomes quomiemile mudioi
C:-Employees Medical Condition
=HlameImes eallepad @aimn
D:-Employer's business operations
oma¢lgisaqes enflmimqy @aidommeanud
Correct Answer:- Option-C
Question82:-Under Employees Compensation Act 1923 an employee is required to submit themselves for a medical examination upon request by
the employer. Failure to do so without reasonable cause can lead to which of the following consequences?
1923621 Hlain@omes Magaidla0oe Ml @@, emIFlSARes @BERBMNMEIE:00. 8@ SlAIMEIRM VIV HEAIBKIGIEILME AlEWDMIEHIMBDENTE. MPWAIW @:d0emdlePe
@EBREM am@(‘mmﬂmﬁ AlEIRWOIFM® DM OQAD al@leM@aalEREIEd a@@lmy B006MAIEr0?
A:-Termination of employment
01 @OAIMIMlaflendd
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B:-Penalty imposed by the commissioner
SDlaHEMA@ oo alle
C:-Suspension of compensation payments
Magnl@la026 EalWermQsud @ImEnalsacwl mldomlaged
D:-Reduction in compensation amount
Mayal@lande DB G0l
Correct Answer:- Option-C
Question83:-If an employer becomes insolvent and there is unpaid compensation due under the Employees Compensation Act, what type of charge
does the Act create on the employers assets?
8@ 6®IFIRISY alda]EIB:dRQ HAMENIGBOS Maal@lande MlREIEIR MBI MeYaldlano@. &:SlgleQemmlcd, emodiasanes ERMIGEIT M. «goy ®EOTIaEs alode06ry
ayedlesamnay’?
A:-Floating charge
6aQogloUy aloded
B:-Fixed charge
aluaio anded
C:-First charge
@By 2l0de
D:-None of the above
QABHEI alOSIO BaRRGY
Correct Answer:- Option-C
Question84:-Who has the authority to entertain and hear appeals against the decisions of the commissioner under section 30 of the Employees
Compensation Act 19237
1923681 agosep@ilny ee:0micderuam @raldeo erveumd 30 @i @aflaemges ClmamaRudeedde0® @oallajeud Mlle:dlendts ce:uBanIM. @RABEINT @OUE:000?
A:-The District Court
elajo 605w
B:-The Labour Court
GRIeNIB 6HHOSOI
C:-The High Court
£0aNEEISOI!
D:-The Supreme Court
mefle 65w
Correct Answer:- Option-C
Question85:-Who is authorised to make modifications to the certified standing orders under section 10 of the Industrial Employment (Standing
Orders) Act 19467
1946601 BWTNIQ@ afotep@eamd (quomalyy BodawQe:ud) @REIBe0 emueumd 10 oo MBHE SO gy’ BIBWREBEIM® M0GERU AIBEIMD @RAEIET
@PWlE0007
A:-The Employer
omoslajsa
B:-The workmen through their union
@RAIGeS QMM sl emoFlangle.ud
C:-The certifying officer
MASIee a0ty Boadlrud
D:-Both the employer and the workmen
6mo¥lajsani H@IFleElB:g
Correct Answer:- Option-D
Question86:-Under the Payment of Bonus Act 1965, an employee is eligible for bonus if they have worked in the establishment for not less than how
many days in an accounting year?
1965621 6eni0emMY EalORMBS @@ @800, BB BREVENELUY AUBHOTIG GHOMMD 0@ ElaITve MUNdAIMEBIE ezoal amcgﬂgama—)ﬂ(o& 6@ glamaEoem’ eenoemailn’ @oBa0meE?
A:-30 days
30 Ao
B:-60 days
60 dlame
C:-120 days
120 dlarve
D:-90 days
90 dlairve
Correct Answer:- Option-A
Question87:-What is the minimum number of worker required for an establishment to be covered under the Building and Other Construction Workers
(Regulation of Employment and Condition of Service) Act 19967
1996601 6agls, ag Mldmosm emodangleud (emoglod MlwEDIMaje BILAIM AKAIMING.) WaoHIBe0 AElWIRIT AIEM B MVNIIMETIM ERYAIRAOW aBQQe EOGDIN
a@o@mag’lﬁgs}s ag)6Ro A @@oem?
A:-10 workers
10 emodlengleud
B:-20 workers
20 emodlengleud
C:-30 workers
30 emoslengleud
D:-50 workers
50 emodlengleud
Correct Answer:- Option-A
Question88:-According to the Building and Other Construction Workers Act 1996 what is the minimum age for a person to be employed as a building
worker?
oagls, 2g dldaacsm emoslengsud Mwae 1996 @eoe. 8@ oegls e®Ilanglwon] cmoel 6QYMGIMES Bt GO @IWo agMIEM?
A:-14 years
14 aoqy
B:-16 years
16 aoqy
C:-21 years
21 aoqy
D:-18 years
18 aqy
Correct Answer:- Option-C
Question89:-Which section of the Building and Other Construction Workers Act 1996 deals with the registration of building workers as beneficiaries?
odgls, g dldeoem emoslengleud mloa., 199661 ag®y Aid:ajoam adgls emodrgl®es YemeERIGMIGSIW eulayd s)mc,y«mm"?
A:-Section 10
emuaum 10
B:-Section 12
eauesd 12
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C:-Section 14
equaum 14
D:-Section 16
emuaum 16
Correct Answer:- Option-B
Question90:-Under the Building and Other Construction Workers Act 1996, what is the minimum number of female workers required for an employer
to provide a Creche facility?
odgls, og mldanosm emoslangdlend Mlwae. 1996 @e:o0., 8 e®IFlaSag) O MUVB:EKH M@E:MTINY ERAILLIRIW oG GOETID ay a@asﬂmogﬂa’%es agepRe ) @@oem?
A:-10 female
10 mflend
B:-20 female
20 alecd
C:-25 female
25 afled
D:-50 female
50 mylecd
Correct Answer:- Option-D
Question91:-According to Building and Other Construction Workers Act 1996, which of the following is not included in the definition of building or
other construction work?
odgls, ag wldanosm emoslengleud mloae. 1996 @dir., eeglsonilbeocwo ag mldanosm @UBEOMERESSEO MIBALAIMODIE ©UBOSITOY a@@oem?
A:-Electrical
eIRlE®
B:-Road Construction
oo (il@amoeme
C:-Manufacturing
OB aldBMo
D:-Transmission and distribution of power
66U (JedHnlMYe AllOEEMAY
Correct Answer:- Option-C
Question92:-What is the time frame within which an employer must register an establishment after the commencement of construction work?
WlBan06m (AUIBOMEBBRUD @REE BN EWate 6@ E@OFIRISA GG MNOAIM. EEIGRA 6.216QEMNTE MAWAIEIW ag)amosT?
A:-15 days
15 dlaaoe
B:-14 days
14 dlairve
C:-45 days
45 dlauaos
D:-60 days
60 dlame
Correct Answer:- Option-D
Question93:-Under section 22 of the Building and Other Construction Workers Act 1996, what is one of the primary functions of the Welfare Board?
odgls, g mldamoem emoslangleud mlwa., 19966a1 omuenm 22 @@oe., oM csndlBeo ol IBEmMEREIT B agmosn?
A:-To enforce safety regulation at construction sites
aldamosm munelerglcd myeeus MloEeme Msaflanenond
B:-To provide financial assistance for the education of children of workers
00slengleges esleges alapePmuEpiay MOMIETIe: MaNoWe M@
C:-To oversee the construction quality of buildings
s)ﬁ@ssmgs)s aldamosm wemmileinne. mldleslenomd
D:-To resolve disputes between employers and workers
emoslejsasge. omodlenglng. ®nlajes @BMEBUS aldlan@leom
Correct Answer:- Option-B
Question94:-Under the Inter State Migrant Workmen Act 1979, which are the grounds for revocation or suspension of a licence?
1979621 0m0ad 61Rg ©6WMBT ABEEAM @V (@G, HORITVMMY 0FIEBMEIEMO ®IMEale:a00] MldovlamMalem) oas @BSIMNIMEBUS )eIIOE@IET?
A:-Non compliance with the provisions of the Act
dloaosleal aImNe:ud aloelleomoy
B:-Violation of the conditions under which the licence was issued
£6RIMMMY M@BHIQ QITNVOB:SOS LloRIMo
C:-Engagement in malpractice or misconduct
Geyyoviaiean EacINOBIEan aBdoqyscd
D:-All of the above
ABHE OOV
Correct Answer:- Option-D
Question95:-Under the Working Journalist (Fixation of Rates of Wages) Act, 1958 who has the authority to make an application for the recovery of
money due to a working journalist?
19586a1 aideslouy ememallay (euom dlemeud Mlunilecd) @O (@000, e20ell ©21Qm 6@ eemealqim’ MEederE alsmo @ild]gjlslesmala) @oealdu MMM @RALmoE
@RUWIBH0Q8s®?
A:-The working journalist themselves
ezoell ©agam ememalqy @em
B:-The employer of the working journalist
emoell eagan ememelqiidec emoslejsa
C:-The Inspector appointed under the Act
@RI SlFIe Mlodleeas pmemyead
D:-All of the above
2@ A0SV
Correct Answer:- Option-A
Question96:-If an employee is required to work on a holiday under Industrial Establishments (N & FH) Act 1977, what must the employer provide as
compensation?
1977 6a1 padenmdflocd agayospiecgmday (N & FH) eog’ aieoe. s sflamenson @paiuwl daimusmsglod emoal 6166 amoos, emoslaysa Mataldladoeaow] ag)m m@de:sme?
A:-Double the wages for the day
AlAmEomERSs UMM DESIQIERE:
B:-An additional compensatory holiday
8@ @RWIE MaYaldln0oe @AW
C:-Both 1 and 2
1002 oo
D:-Only one of the above as chosen by the employer
ABEIB alosmmAUI BT 20 HMIFIRISA GlEEETHSERMD
Correct Answer:- Option-C
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Question97:-Which section of the Indian Trade Union Act 1926 deals with the Immunity from Civil Suits in respect of certain acts done in furtherance
of a trade dispute?
SO QPaE OBH. ASBELMGIMIW] HagD alel @JQoDle:gnowl fuTWeys Mlaled eamyaeglcd mmes oleroweuond 1926621 avyb cswW QETIM @REGIORI aB®) Qldqosm
OG0 ©alYM@?
A:-Section 17
emuaum 17
B:-Section 18
emusum 18
C:-Section 19
emuaum 19
D:-Section 20
emusum 20
Correct Answer:- Option-B
Question98:-Under the Industrial Dispute Act 1947 in which of the following circumstance can an employer lay off workmen without prior permission
from the appropriate government or specified authority?
1947621 apaimodie: @3 Mloae @RMAVElL), @IS ORI aBB M0 aEKEBIRMY 8@ emIFiasag Dalemnrw mdsmdldenews Mldday @remididlgesewo gmad
@RMAGIWIRPO® e®IFlenglses nﬂraﬂ_rgnﬂsocra SIQe?
A:-Lay off due to seasonal fluctuation in business
snflondlnadloar mauem@ a@QEsoallajeud @:0eeme nﬂrbﬂ%oﬂsma
B:-Lay off due to shortage of power
es)me%(cﬂ SR H006Mo afldlyallsed
C:-Lay off due to decline in the market demand
allalenoliear awlaomdo’ B:oeoma@momd nﬂ@’lgéoﬂsasi!
D:-Lay off due to financial difficulties of the establishment
MUNdaIMEBIBEO MLIMIEDIS: YYRIYGE:U3 @:do6Me alldlgyjallscd
Correct Answer:- Option-B
Question99:-According to the Industrial Dispute Act 1947 an employer who intends to close down an undertaking of an Industrial establishment shall
apply for prior permission at least days before the date in which the intended closure become effective.
1947 o1 aipaiaruoeis: @@ M. @eMIVEl); B AIAITVI® MVAJAINMETIMBEO B TVAJaIM. @S 4Jny5008 9eaulasmm 8@ emosiajse, Oe3wWdlal @S 4jnJ503 (@JOENIRIEDI@E QUGN
QT E S0 Alaiave gemuslal. @@ @RMAIEIV] @oEIBHEeM..
A:-90 days
90 dlarve
B:-60 days
60 dlaumoe
C:-120 days
120 dlaarvs
D:-30 days
30 dlamoe
Correct Answer:- Option-A
Question100:-According to the Industrial Dispute Act 1947, who is allowed to represent workmen in any proceeding under this Act?
1947621 aipaimuole @3 M. @rMmIIEl), D MOREBIERES ag® MSalsl®aotiej e@Flenglnes OIMIWe:ElEIM @RI @PMMCHSS®?
A:-Any office bearer of a registered trade union of which the workman is a member
emoslengl @o.nnuiges EHITYE 21 eS QMIVMOO age®Elaj 6oadlmy emwod
B:-Any other workman authorised by the workmen
0mo¢lagle:ud @RWIE:0eewSOTIR acgeEa. 6mIFialg]
C:-Any legal practitioner
aReOEIal MO @dgluemad
D:-Both 1 and 2
1o 200
Correct Answer:- Option-D
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